(b)
—1)2 +12¢(7 =1) +1673
fy= 1+r)

=2cos’ @ —6sinfcosf +4sin

=7 1+c2529 -35m26+41 cos28

=c0s26 —3sin26+3
=v10 cos(28 +a)+3

FRABEAMEEVI0+3, B EA—10+3.

2. [4#4me]):
(a) % AE=x, BE= ¥, BE EP lip, PJCE Ax, PE= ay.

E%{APBDE;APCE}—}APAFI B |APAF|= g |APaC|= L EEAx

FF EA
F.P A

TP 141
A, WT:QJAPBD]_———]APCBZ_—‘?--M-{APEC
MY

”fg‘

BD u

BC Cltu
CD B4 FP
HERKEET 40(# B AFBC), —— 2 D, Q)T
z 2(F R ) 30 IF e - Elmvé()()’w
2u+l A B4 _

7 KT AF

BF AC EP
XERREE AFEAB YT 13 — =1, B
(FE T 5 I

IJ-BA .)L+1. Ho
CAF ) A u+l

50, @TpllrD | wO) . d-p  wis) |
pAED Qe T u(A+D) T AQu+])

Fir BA
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#2(ﬂ+1) =(A-m)AQu+l). ()

CD BP EA
Eg K EHE(FEREAEBC w4 =1; Ba 'T’B
KREE(E R ) =5 i Q)TH

2u+l p+l 1
y7 g 144
LA+ =Qu+1)(E+). (6)

=1,

FEORAS)TH

(A+D2p+Du+D =4~ ﬁ)i(2ﬂ+1)
A ph= A+ A+l

pA+Y =2 -1-1.

AP —2-1 A+ A 2}3-1 (A-1)°
R [+]1= s +1= s A-U= . 7
pE— o MRl T T T T T e @)

FLEANG), BLETE

(A=A -3 -41-1)=0.

2— —
oo Al A -32—4Ao1=0. F A=1, ;.xjp:i"—z—/l%:——lé«o, 5B R T s

gL, AP -32%—41-1=0.
(b) BMMBEIESR | |ACEP|=|A4BC].

|ACEP| = —*—| A4PC | =—2— | MBC|=| ABC]|
. A+l A+l '

==ttt
A
o Au=A+1

AT =A=T)
o S =l )

o A -34-42-1=0.
& (b)dasb R I, AIX|ACEP|=|A4BC|.

3.[#4mE]:

(a) #—&w n, &IATRa ==k, V k=12, n- -1, a,=C,+1, RSB F+H7H
n-—l.‘éﬂéfja,v-%aj;%ﬁ.&?ﬁ(‘ak-i-aﬂZl,v E=12,---,n=1) ®&TH f(m<n-1,
Vn=23--.

) s @)k <3, F<2, FREERER R R a<y<g<a,, % %
a+--+a, 21 R
al+a4SO(L§.1jéya,+a4<a2+a4<a3+a4)
a,+a,<0(B % a,+a,<a+a,<a+a,)
BT 1<a1+a2+a3+a4—(a1+a4)+(a2+a3)<0 FE &, f4)=3.
(c) HIF A HSEMEER HE—BHn, f(W2n- ~1= f(n+2)2n+1.87EE

E#a<a<-<a,,, BFa+a+-+a,,21 % aq+a,,z21, Rla +a,,21,



V=23 ,n+l; RREDEnsl@tiRa o RESEY. £ata, <0, Bl
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KP2si<jsn+l. B, g,,+a, >0, ,+a, 2], FRULEDTEn+] i85
a+o REEH ®f(+D2ntl. & f(A)23, THE F6)25, f®)27, .
£(2002) 22001. B e (2)4e £(2002) = 2001
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